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For a fully discrete whole life insurance of B issued to (40), you are given:
e Fxpenses, incurred at the beginning of each year, consist of:

— 10 in the first year and 2 in subsequent years, plus

— 5% of the premium in the first year and 1% of the premiums in subsequent years. G
-
e The annual gross premium, determined according to the equivalence principle, is 55.30.
e The annual net premium, determined according to the equivalence principle, is 52.15.‘/ e
® 4 = 16.2 . .
10 Cl:‘: G‘P = 55‘30'52(3 >?,lg—

® d50 =156.1

Calculate the deferred acquisition cost (DAC) at the end of year 10.

OAC, = APV(FE ) ~ APV(Felio)
= (OlG f2)Aso ~ ef*Qso
= (woi(ss30 +2) (1IsD = 315 (\3.0
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